

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

 06/07/2023
 10:00 AM | Pick up Badia Desing
 PO:

 06/07/2023
 12:00 PM | Delivery
 Ship

 06/08/2023
 05:30 AM | Stand By
 78 E

 06/08/2023
 09:00 AM | Delivery Day 2
 Los

 06/09/2023
 09:00 AM | Strike
 06/09/2023

Shipping Address: 78 Beverly Park Los angeles, Ca

## IN-0006370

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Sub Rentals					
	Brass Table Lamps Sub Rentals Needs TG Light Candles	3	\$62.00	Т	\$186.0
	Metal Console Table Metal Front Sub Rental	1	\$415.00	Т	\$415.0
	Brass Candle Holder Needs T light Candles	10	\$25.00	Т	\$250.0
	4' Beni Cushions In white	2	\$165.00	Т	\$330.0
	Arabic Blankets	7	\$65.00	Т	\$455.0
	Round tray for Existent Table	1	\$125.00	Т	\$125.00
	Killiim 54	3	\$165.00	Т	\$495.0
	Killim 54 Cushion	4	\$65.00	Т	\$260.0
	Killim 54 Cushion	4	\$95.00	Т	\$380.0
	killim Pillows	20	\$40.00	Т	\$800.0
	Rugs Mix and Match	10	\$415.00	Т	\$4,150.0
	Lanterns Mix and match Need Candles	17	\$95.00	Т	\$1,615.0
	Backgammon small	1	\$825.00	Т	\$825.0
	Backgammon medium	1	\$475.00	Т	\$475.0
	Stools For Games	4	\$115.00	Т	\$460.0
			Total Sub Rentals		\$11,221.00
Food Area					
	Custom Made 82" Round Table Cloth Burgundy Velvet With Gold Trim	1	\$600.00	Т	\$600.00
	Custom Made Over lay With Gold trim 82" round	1	\$300.00	Т	\$300.00
	Fabric treatment - In Natural Gauze 120' x 13'H 17'x18'x13'H	1	\$3,250.00	Т	\$3,250.00

Description	80" Round Table	Qtty	Price		Total
		1	\$0.00	Т	\$0.00
			Total Food Area		\$4,150.00
Logia					
	Club & Lounge Chairs - Budapest - Armchair Burgundy Velvet 02	2	\$250.00	Т	\$500.00
	Club & Lounge Chairs - Manchester - Exposure Club Chair	2	\$300.00	Т	\$600.00
	Club & Lounge Chairs - London - Cranleigh Club Chair	4	\$250.00	Т	\$1,000.00
	Coffee Tables - Casablanca - Round Low Carved Wood	4	\$275.00	T	\$1,100.00
	Accent Table - Casablanca - Round Carved Wood	3	\$115.00	Т	\$345.00
	Ottomans - Marrakesh - Carved Wood hunter Green Velvet cushion	6	\$65.00	Т	\$390.00
	Daybeds - Rectangular W/ Skirt Daybeds - Rectangular W/ Skirt - Off White Thick Linen w/ Bolsters With Metal Back Frame To support Bolsters	1	\$175.00	Т	\$175.00
	Mix and Match pillows Burgundy & Dark Green velvet	10	\$30.00	Т	\$300.00
	Mix and Match Blankets	20	\$125.00	Т	\$2,500.00
<b>\$</b>	Ottomans - Marrakesh - Carved Wood W/ Back Rest Hunter Green Velvet	2	\$45.00	Т	\$90.00
	Ottomans - Marrakesh - Patchwork W/ Carved Wood Base	2	\$45.00	Т	\$90.00
T	Stand Up Tables - Manchester - Dark Wood	4	\$275.00	Т	\$1,100.00
	Barstools - Toronto - Upholstered W/ Light Wood Legs With custom Cover in Burgundy and paint Tables in Mahogany	16	\$90.00	Т	\$1,440.00

Description		Qtty	Price		Total
	Ottomands - Marrakesh Leather	4	\$60.00	Т	\$240.00
	Club & Lounge Chairs - Budapest - Vanity Chair Green Velvet & Fringe	4	\$215.00	Т	\$860.00
			Total Logia		\$10,730.00
Cabanas					
	Casablanca Pendants - Brass	3	\$90.00	Т	\$270.00
	Casablanca - Bronze	5	\$120.00	Т	\$600.00
	Garden Gazebos & Cabanas - 10' X 10' Cabana Frame (in Stock Fabric Included) In natural Gauze	2	\$2,975.00	Т	\$5,950.00
			Total Caba	nas	\$6,820.00
Stage					
	Fabric Treatment For Stage In Natural Gauze 2- front and back Wall 20'x10'H 2 side walls Double Sided 12'x10'H	1	\$2,500.00	Т	\$2,500.00
	Kabuki System	1	\$0.00	Т	\$0.00
	Dj Fronts - Aged Tile Front	1	\$425.00	Т	\$425.00
	Area Rugs - Marrakesh - Blue Border	1	\$200.00	Т	\$200.00
	Area Rugs - Marrakesh - Blue & Red	1	\$200.00	Т	\$200.00
	truss Covers for 2 Arches 20'x10'H	2	\$400.00	Т	\$800.00
	20' Stage Back Drop Panels	1	\$3,650.00	Т	\$3,650.00
			Total Stage		\$7,775.00
Services					
	Purchase of Gift Baskets	40	\$75.00		\$3,000.00
	Delivery on Wednesday	8	\$600.00		\$4,800.00
	Delivery on Thursday	6	\$600.00		\$3,600.00
	Stand By Thursday	2	\$350.00		\$700.00
	Strike Crew	6	\$550.00		\$3,300.00

Description		Qtty	Price		Total
	Transportation	3	\$450.00	Т	\$1,350.00
	Transportation: Fuel Surcharge	3	\$65.00		\$195.00
	Packing and Misc	1	\$1,200.00		\$1,200.00
	Desing ,Manager on site , Site Visit, Diagram and managing Rentals	1	\$6,500.00		\$6,500.00

Please make checks payable to Revelry, Inc.	Total Products:	\$40,696.00
Note: Driver to delivering and nick uppall invaigned must be new in full	Total Labor/Services/Misc:	\$24,645.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
······, ·····, ·······················	Discounts:	(\$0.00)
Notes	Total:	\$65,341.00
	Payments:	(\$0.00)
	Balance:	\$65,341.00